PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

23rd July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

‘Vocalist’ is related ‘song’ in the same way as ‘player’ is related to / ‘TR”A®’ Tafda % Rl
N PR A oy we s weafta g sa9

e Game / a4

®* Victory / iG]

e Match / g

® Practice / W
Correct Answer :-Game / 9d
2)

Question Stimulus :-

Currently, Hyderabad is the capital of / CREICR: %WWM %

® Andhra Pradesh Only / Fad Y TS

® Telangana Onlylmam

e Both Andhra Pradesh and Telangana / S 3fi$] U= 3R AT

® Neither Andhra Pradesh nor Telangana / A ar sy !II%'-‘IT AR A 'c?f CGRIGH
Correct Answer :-Both Andhra Pradesh and Telangana / Y 3rie U SR AT
3)

Question Stimulus :-

A courier agent has to deliver post in 3 streets. Each street has 5 houses. He takes 2 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
20 min to go to the next street. His day starts at 10 AM and finishes off by 3 PM, with no

break in between. / T®% $RUR Tole &I 3 Al & 16 1 81 YOS et H 5 WX 1 9t TP W A 1P
A A2 AT IR I Tel & R WA 9 # 5 e @ar 21 9t 3rTelt 9o A w1 # 20 e aar 21
ITST AT Y8 10 T9 I BT 2 3R UER 3 99 T o1 21 9% 59 I B R 7 Y an

If in each street only 2 houses has to be delivered with letter, what is the total time taken



%o_qdae_g_l\_l:rthe letters? / AR TAS TH A Fa@ 2 R AT IR, A Fa fbanmomw wx RaRa s &
?

® 60 minutes / 60 firFe

® 65 minutes / 65 fire

® 67 minutes / 67 fire

* 69 minutes /69 fiAe
Correct Answer :-67 minutes / 67 fi=e
4)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below:

/i gheRias SR AR RE T HFHE F A0 ¢

If Govind is a singer then he will sing a song. / f¢ Tifa< Te e g af a8 =T
S

e If Govind is not a singer then he will not sing a song./ tr%rhﬁ-—dwwqﬁ%a’r dg
AT 8] M|

e If Govind is a writer then he will write a story. / af¢ Mfa< t& d@® & a1 98 HerH!
for@mm

e If Govind sings a song then he must be a singer. / af¢ Mfa=g =T a1 & Y 98 '

& R |

e If Govind does not sing a song then he must not be a singer. / gfe Mia =T =81
a1 8 1 98 M Tl gl

Correct Answer :-If Govind does not sing a song then he must not be a singer. / gfe

T 7= =18t T @ < 98 M T8l |

5)
Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below are
four drawings of boxes with designs. When folded, which box will it be? / &féur u m
fafi el w fEoms=i & a1y e a8 5 ve 9 R 8| R feoms= aret sot 91 ar E )
BIts 1 W, DI AT 991 FRIT?



R
RO gt

Correct Answer :

6)
Question Stimulus :-

The first Governor of Madhya Pradesh was A L m & u%ﬁ qUrd Ql

® Ravishankar Shukla / Ifa=i®R PICHI

* SN Sinha / TH T g1
® Pattabhi Sitaramayya / tlETﬁ-f RIGIRR L)

® Hari Vinayak Pataskar / Bﬁ fomae TaReR

Correct Answer :-Pattabhi Sitaramayya / UETTH JraRa@m

7)
Question Stimulus :-

A, M, D and G ran a race. A came third. M was not the first and G was not the last. D
was immediately behind G. What was the order in which they finished? / A, M, DTd G
TS SIS H IS | A T 3MATI M UYH 81 4T Ud G 3ifqw =6Y U7l D, G & debTad NS UT| 98 HH T AT
o S warfa 12



e GDAM
* DGAM
e GMAD

e Cannot be determined / fAuff¥a =&Y forar s gar

Correct Answer :-GDAM

8)
Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

fFrafafad vy o e Ide $U | <) B aaT HY R 3P 918 A T U e § | g9 Suyge
3IHH BT I D

1. Site 2. Plan 3. Rent 4. Money 5. Building 6. Construction
1. ¥d 2. AT 3. fHIm 4. U 5. sURA 6. fAwfor

1,2,3,6,5,4

2,3,6,5,1,4

3,4,3,6,5,1
°* 4,1,2,6,53
Correct Answer :-4,1,2,6,5,3
9)
Question Stimulus :-

The President of India is / HIRd %?quﬁf % :
® The head of the State / ST & T
® The head of the Government / dXPIX QTQ'EE
® The head of the Parliament / m % gy
® The head of the Judiciary / —ATIUTII®T & UG

Correct Answer :-The head of the State / XTod & Y&

10)



Question Stimulus :-

According to the 2011 Census of India,__is the most populous tribe in Madhya Pradesh. / HIRd 31 2011 Bt

SRS IGER, A RN P gad 3fie ut rard) aren aif 21
* Gond /TS
e Bhil/ Hi@
* Korku / ®RP
 Baiga/ S
Correct Answer :-Bhil / Wi
11)

Question Stimulus :-

How many Union Territories are there in India? / HIRd T foraq &5 =mfya H%QT %?
e 9
o 7
e 5
e 10
Correct Answer :-7

12)
Question Stimulus :-

A team of five is to be selected from amongst flve boys (A, B, C, D and E) and four girls (P,
Q, R and S). Some criteria for selection are: / UTd WS®HI(A,B,C,D, o E) 3R IR
asfrai(P,Q,R,3MR S) H | UTT NN &1 TP W &1 I HIA1 &1 I99 mﬂ%:

A and S have to be together. / A 3R S |1Y g1 A1/

P cannot be put with R. / P &I R & IIY 8l 3@l S Y&hdl|

D and Q cannot go together. / D 3R QU®dH 1Y 8l & g d |

C and E have to be together. / C 3R E U® 9Y 81 g 91T |

R cannot be put with B. / R &1 B & I14 8! T@I S Jhdl|



If R be one of the members the other members of the team are / 3R R daF ﬂﬂ?ﬁ Ta Th
BT Y 3T e B

e P,SAD
* QS,AD
* QS,CE
e S,ACE
Correct Answer :-S,A,C,E

13)
Question Stimulus :-

Name the only Indian Prime Minister who never faced the Parliament during his tenure- /

HRA & 39 TS YUHHA $T A4 FA1¢, Sl 301 PRIGTT & gRE ot off dog 781 ma-
® Atal Behari Vajpayee / 3[C¢l faerY arerudt
® Chaudhary Charan Singh / e TR fig
® Chandra Sekhar/ T°% Q@R
® Vishwanath Pratap Singh / =Ty yaru R
Correct Answer :-Chaudhary Charan Singh /et IR Rig
14)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / A9 Uy &, tga @ i & ¥ frelt R F F15 Hay 3| 9 Aee & § @ur ug g~
et iR ug & Iy I TSR T Iy B

Mother: Daughter :: Father : ? / AaT : 9t :: fUar: ?
e Son/ C |
e Brother / 'J-ITs‘
* Boy / dS®I

e Sister / dgd



Correct Answer :-Son / S¢T

15)
Question Stimulus :-

Who is known as the ‘Iron man of India’? / *HIRd & Fﬁ? gay’ & 919 A B AT ST %?
® Subhas Chandra Bose / JHIY I T
* Bal Gangadhar Tilak / §TSl TR foa®
® Chandrashekar Azad / m 3ATolTq
® Sardar Vallabhai Patel / 93¥qIY W‘H"-ﬂg ued

Correct Answer :-Sardar Vallabhai Patel / IIGR deaHHTS Uedl

16)
Question Stimulus :-

Where was Gautama Buddha born? / Ttad & DI oTH W:TJEGIT Yr?

® Kundagrama / $rITH
® Kapilavastu / Eﬁﬁ'ﬁaﬁ
* Kashi/ BRIt

® Samastipur / wmﬂg?

Correct Answer :-Kapilavastu / HTUda¥g

17)
Question Stimulus :-

is called the Manchester of India. / &I UIRd BT ﬁ'—lﬁw Dol Sildl %I
® Ahmedabad / {eHGIdIG
® Allahabad / SCITeldlg

® Amritsar / THdAX
° Hyderabad/%mﬁ

Correct Answer :-Ahmedabad / [gHGIdIG



18)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg

faseq 9T it f3u T Hu=T vd fswut & R & 9 21
Statements: / ®Yd:
Some clouds are hills. / $ JI¢d UgI3aT g1
Some hills are tombs./ $© UgIfSdT HF gl
Conclusions: / fAwpd:
I. Some clouds are tombs. / 9 dlqd &d %'I
II. Some tombs are clouds / & &d diqd %'I
®* Only conclusion I follows / *ad ey 1 Aeaar %
®* Only conclusion II follows / Fad forsey 11 frpadr %
e Either conclusion I or conclusion II follows / a1 at foswd 1 a1 fpR frepd 11 fApaar @

e Neither conclusion I nor conclusion II follows / 9 at ey 1 fAredr % MR Bl frsed
II

Correct Answer :-Neither conclusion I nor conclusion II follows / 9 @ fAwsd 1 fArear g

3R 7 g frepd 11

19)
Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / IRCRE] ﬁ, IR Ve f&d
g, o 9 i fodt o @ Ture § SR 19 U T B| SIeT 9Td Td i |

* Bird / faf$a
e Crow / 3T
o Kite / a9
* Pigeon / 9qdR
Correct Answer :-Bird / fafgar

20)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg Ty
g ab st IR REwFsE FIu= 2 -

If the marks are less then you will not get admission. / e 3i® &H § dl 3MUH! SIfEdr g}
forem

e If the marks are not less then you will get admission. / gfe e o9 T-Iﬁ%\'-ﬁ 3TYa!

CIECEIRECH

e If you get admission then the marks are not less. / gfe smust grfiar fireer %?ﬁ 3P
U 81 8

e If you do not get admission then the marks are not less. / If¢ MU griaar &1
frear 8 @ ofw w0 T8 €1

e For getting admission a high score is enough. / 3If&d & foT 3= R wid B

Correct Answer :-If you get admission then the marks are not less. / af¢ 3Mu®! giaan
firerar € <t o ®w & &1

21)

Question Stimulus :-

Mohenjodaro was discovered by / Aigsics! &1 @ie fFAP gRT F 1S A
® RD Bannerjee /m CErid
® DayaramSahni / ¢OIRTH W‘ﬂ
® George Jule / Sitst Gl
® AV Alexander /T a Q’aﬁ—éﬂ'

Correct Answer :-RD Bannerjee / SRE! TIT

22)
Question Stimulus :-

Ratio of width of India’s national flag to its length is ./ HIRd & Tl'@'q ol Bl m ??I?;Té BT Murd %I
® 2:3

® 1.5:2



® 1.5:3
Correct Answer :-2:3
23)

Question Stimulus :-

Who did Sarojini Naidu succeed as President of the Indian National Congress? / e M W TR arag
HIRATT I ST P reae a2

e Vallabhbhai Patel / GEAHHTS Ued
® Bhagat Singh / HITd g

® Mahatma Gandhi / HelHT e
 Lord Mountbatten / TS HTdede

Correct Answer :-Mahatma Gandhi / HgTeT TS

24)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faTeg
gReab st AR RETU s Fau= 8 :

If the man is crazy then he will jump from the tower. / af¢ 3eHt TAH! § dl 98 TR A Te
SITETI

e If the man is not crazy then he will not jump from the tower. / gfe emeHt It T(»"T%

a1 98 eTaR | 7Tl B!

e If the man jumps from the tower then he must be crazy. / af¢ 3l TR A Fear &
f 98 J@! ghmm|

e If the man does not jump from the tower then he must not be crazy. / af¢ 3ngHt

TR q T& Baar € a1 a8 ST T ghm|

e If the man is not crazy then he will use a parachute. / gfe smeHt ga®! Hﬁ%?ﬁ dg
TS BT TG S|

Correct Answer :-If the man does not jump from the tower then he must not be

crazy. / 9f¢ 3t eraR A T8 Tear § O 98 J@! 8l NI

25)

Question Stimulus :-



A O B means A is the sister of B, A 4 B means A is the father of B; ASB means A is the
brother of B, which of the following means that X is the aunt of Y? / A 6 B &1 Hddd % A B

P IETL, ALBITAAUT R A B U S; ASB ST Haae 2 A, BHTHE &, AU d A pasr naaa & &
X, Y 91 3idl 82

e xoD2Y
e x®DFyY
e x%poay
e x D2y
Correct Answer :-x8 D2y

26)
Question Stimulus :-

The Constitution (122nd Amendment) Bill, 2014 is related to: / SfIUT (TP A TS Hal A2Me) fAdu®, 2014
fraa dfta 8:

® Goods and Services Tax / 9%g Td |ar

® Right to Education / FRI&T &7 SRR

® Right to Services / T BT SATUBPR

® Right to Food Security / WTel I &T PR

Correct Answer :-Goods and Services Tax / %] Ud |dl &

27)
Question Stimulus :-

Name the shipyard situated on the Konkan coast? / PIpU de R R Ruars &1 a1
 Cochin /@A
* Kandla / BTSTT

® Mazagon / HSTId
® Visakhapatnam / fa=maTTw

Correct Answer :-Mazagon / H3RIid

28)



Question Stimulus :-

Six people A, B, C, D, E and F are sitting on the ground in a hexagonal shape. All the sides
of the hexagon so formed are of same length. A is not adjacent to B or C; D is not adjacent
to C or E; B and C are adjacent; F is in the middle of D and C. / 9: AT A,B,C,D,E 3 F o=
TR YCHIUNG THT H 9 &1 TeHhIvr ot T aoei Fl das T THF I BAICHF TTA A A el 8; CATE
FTAADTNE; BARCTAHAE; D 3R C & &9 F B

Which of the following is NOT a correct neighboring pair? / fgddasa ?ﬂ'ﬂﬁ\‘rﬁﬁ@?ﬂqﬁ
2

e AandF / A3IRF

e DandF /D 3RF

e BandE /B3R E

e CandF /C3RF
Correct Answer :-Aand F / A 3R F
29)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fdwe ﬂﬁ'l'{
Sit feT T Sy wd fAepuf & aR A 9L B

Statements: / $YA:

All boats are cars. / I A9 R %'I

All cars are planes. / 93 1 fauE g1
Conclusions: / fArep:

I. All boats are planes. / I. 9 9@ fauE g1

II1. All planes are boats. / II. W A Ad %'I
e Only conclusion I follows / ¥ad forepY I fAwear &
e Only conclusion II follows / Fad frsey 11 frpadr %
e Either conclusion I or conclusion II follows / a1 dl At 1 a1 fier fAseedf 11 fFrpaar @

e Neither conclusion I nor conclusion II follows / 9 a1 foresd 1 fA@adr g s 71 g oo
II

Correct Answer :-Only conclusion I follows / *ad fareed 1 fAeadr %



30)
Question Stimulus :-

Phanish when going to a pub found that he can’t take the right turn as it was blocked.
He was forced to turn left. What is the possible course that he can take now? / w3

TP U9 oTd §¢ UrdT 6 a8 qIfen wis 98 & Woar i 98 9 3av s ¢ 98 91 g8+ W AegR &l
T HI 3t fezmei #§ g ore Sud firw dva @ ?

e Left, right, left / 91T, 14, 9T¢

e Right, right, left, right / €@, 3, 9T¢, <A

e Right, right, right, left / g/, ad, g™, 91¢

* Right, left, right, left / g, 914, grd, 9T¢
Correct Answer :-Right, right, right, left / g1, g, gd, 91¢

31)
Question Stimulus :-

“Swarna” is another name for ./ "EIO BT QT ATH g |
e Tapti/dT&it
® Chambal /I9d
® Narmada/ 7'|TTET
e Son /T
Correct Answer :-Son /|9
32)

Question Stimulus :-

If Monday means a lousy day, and it's a lousy day today, then it’s not Monday. / gfe
HHAR P Adad TP dgd WRT9 o 8, 3R 3ITel 98 @14 e 8, ) o JiHar & 21

* True / Ig!

False / TTdd

May be / B I&dl 8

Irrelevant / 3RS



Correct Answer :-May be / 8 I&dl &

33)
Question Stimulus :-

How many central prisons are currently present in Madhya Pradesh? / JAHT | Aeh EI%QT H fraq g oia
LIECEH

e 9
e 11
e 14
e 12
Correct Answer :-11
34)
Question Stimulus :-
Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E U™ aaﬁaﬁamm e % :
1. A, B and C are in Indore and Bhopal. / A, B 3¥ C $&R Td Hiute # 2|
2. A, B and E are in Indore and Gwalior / A, B 3R E &R U9 WIfeaR # g1
3. B, C and D are in Raipur and Bhopal. / B, C 3R D Wﬂ?t{'cr vurd ﬁ?l
4. A, E and D are in Gwalior and Jabalpur / A, E 3{R D W1firaR U9 9eaqR ¥ g1
5. C,E and D are in Raipur and Jabalpur / C, E 3R D W@W{Rﬁ%l

Branch of which bank is in all places except Gwalior? / f&d d§& & 3mRar WIfereR & srarar it

el A 82

Correct Answer :-C

35)

Question Stimulus :-



Pataleshwara Temple is located at ./ qﬂﬁ%RT Tifex _ A fRe %I
® Amarkantak / 3(HYPHCH
® Mandhata / HYTdT
® Nemawar / FHTGR
® Terahi/ a?_eﬂ

Correct Answer :-Amarkantak / 3[HI®hcH

36)

Question Stimulus :-

Who gave the slogan “Jai Jawan, Jai Kisan”? / “ST STdT-, ST far &1 R feaq fear ur?
® Sardar Patel / G¥GR Ued
® Netaji Subhash Chandra Bose IEGIE] JUY Tg N

 Maulana Abdul Kalam Azad / FITHT 3gA HATH TG

® Lal Bhahdur Shastri / TSl §gTgY AT

Correct Answer :-Lal Bhahdur Shastri / 9Te 9gTg< XMRTAT

37)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 faseu gfHQ
Sil 3T T Syl wd el & R d 9L R

Statements: / $Y:
All policies are laws / 94 Hifaui s &

No law is a rule / ®I§ ST Faw T8 &
Conclusions:/ e

I. No policy is a rule / I.®1s ifa faw 8 8
II. No ruleis law / II.?ﬁﬁ ﬁﬂﬂw:ﬁﬁ%
®* Only conclusion I follows / *ad ey 1 Aeaar %

e Only conclusion II follows / %dd foepy 11 f@adr &



e Both conclusion I and II follows / a1 f=sd I 3R II fA@ad &

e None of the conclusion I or II follows / f=Y I a1 II & 9 #IS 8 Paar g
Correct Answer :-Only conclusion I follows / Fad ey 1 fAwadr 8
38)

Question Stimulus :-

Which one of these plays was written by Kalidasa? / E"TI}I ¥ P T ATeP ST gIRT fear T ur?
® Neel devi / e 3t
® Andhr Nagari / SR TR
® Satya Harish Chandra / 4 Eﬁ'&?
® Abhijnan Shakuntalam / Gﬁ\mw
Correct Answer :-Abhijnan Shakuntalam / 3fUIT Apdad

39)

Question Stimulus :-

The Konkan Railway is between Mumbai and ___./ PIHUTYad ,'ﬂ'ﬂ'ﬁ; 3R - & d %I
® Goa/Tal
® Mangalore / HITAR
® Cochin /P

® Kanyakumari / WITFIT\&

Correct Answer :-Mangalore / TSR

40)
Question Stimulus :-

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min
to deliver letter in each house and 5min to travel between each house in each street.
He takes 30 min to go to the next street. His day starts at 9 AM and finishes off by 4
PM, with an hour of lunch break. / T& SIHTH 4 MR A STHF TN I W THN A 10 R I T/ R
W T ST 31 | o fiqe aar 8 ok Ui fire yade et § R & &g amn e | dar 21 a9 30 e
STl el H W H AT 81 IHPT o Yag 999 IR BT @ 3R 499 WA T 8, 59 d19 98 190
FT G & Mo & e Jwg dar 2|



Suppose the postman has to cover only 2 streets with all houses. He started off at 9
AM. By what time will he finish off his work, assuming he took 1 hr lunch break? / A1

difog ot 39 Rk 2 et & IR WY & 93 ¢ §1 SHA 999 W TR a1 a1 Gugr & HieH & fig
TS Gl A & 1 9+ B aPH3U-T HIH T fHhar?

* 12 Noon / GIUsY 12 T&

* 1PM /U 1§

* 2PM / QU 2§

* 3PM / QU 3 Ta
Correct Answer :-1 PM / 3IU&R 1 ¥4

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

L 1

Correct Answer :-‘H H

2)

Question Stimulus :-



In the ratio 4:7, what positive number should be added to get the ratio as 5:6? / 3Uld
4:7 ¥, B W YT TBAT FiSl AT Ariee R rguTa 5:6 fira a@?

® 6

Correct Answer :-11

3)
Question Stimulus :-

Complete the series choosing the missing letter/s: / AW (&R B 4TAT BT R PIOC :_ _
aba _ _ba _ b

® abbbab

® abbaba

® baabbb

® bbabaa
Correct Answer :-abbaba
a)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / T & ¥ saer &Rt U H@TSN BT SIHH TANT HRL 8| Ted A Ugan=a|
(i) TR452351781

(ii) TR452351781

(iii) TR452551781

(iv) TR452351781

® j

® ii



® jv
Correct Answer :-iii
5)
Question Stimulus :-

A person gets Rs. x from salary and Rs. 3x from rent. How much does he earn in total?

/ TP 3MeHI F x TUT AT 3 | firea € 3R 3x T fHd | frad €| a8 oo fea-n surar 82

® 4x

® 6x

® 3x

e 4
Correct Answer :-4x
6)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁ 3[&R TP @l G| T DI : a _
b_aabb_a _ _a_bb

® bbaabb

® ababba

® ababab

® bababa
Correct Answer :-ababba
7)

Question Stimulus :-

In a certain code language, zee cin com means king was great; cin bana goap means holy great saint; wisp sean bana
means next holy day. Which is the word for saint in that code language? / ol @ ®is YT 'ef, zee cin com

T Hddd % king was great; cin bana goap PI HIAd % holy great saint; wisp sean bana PT Hddd % next holy day
| S PIS HTHT | sains & T T 218 B2

® cin

® bana



® goap

® wisp
Correct Answer :-goap
8)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IEE]

AHfd B T & o =graw w@ | fea-! @t Y@ o smaxasdar grft?

Correct Answer :-10

9)
Question Stimulus :-

Complete the series choosing the missing number: / QW JBAT FAHR 9TAT B TR BIOMTC :

2,5,9,14,__ 27
° 18
e 19
e 20
e 22

Correct Answer :-20



10)
Question Stimulus :-
A student scored 86,92,77,95 and 75 marks out of 100 in five subjects. What is his
average mark? / U STF 1 urd fawal & 100 # A 86,92,77,95 3R 75 3ie Wi fHu| 3U& Naa
3P 1 §?
e 85
e 82
e 87
e 80
Correct Answer :-85
11)
Question Stimulus :-

Two cards are drawn from the pack of 52 cards. What is the probability that they are kings? / 33[ TR0 52 AT B T@

A freTd T | fpasit ST @ f 9 areang §l?

1
m

poa | b
b | b
-t | T

1

01
Correct Answer :-

12)
Question Stimulus :-

In a certain code, GATE is written as HBUF, then how is DEGREE coded? / fodt @ Bis
#, GATE &I HBUF for@r WITaT 8, 7Y DEGREE &1 3 $Ifsd fopar S ?

e EFHTFE



e EEHTFF
e EFHSFF

e EEHTFE
Correct Answer :-EFHSFF
13)

Question Stimulus :-

A car moves at the speed of 60 km hr. What is the speed of the car in meters per second?/ Tch HIR 60 fopt ufg g

FI T A Tad! g1 Hiex ufa Jovs & SR ot 0fd o grft?

3 ¥
r

16 3m/sec / 16 3 Hi/qFs

e 18 3m/sec/ 18 W/AFS
® 16 m/sec/ 16 ﬁ/m
® 18 m/sec/ 18 tﬁ/@@

-

Correct Answer :-16 * m/sec / 16 3 Hi/3%s

| ka

14)
Question Stimulus :-

3-6 +9 -13+7+18 =?
° 22
e 18
° 24
® 20
Correct Answer :-18

15)

Question Stimulus :-

An Iron box was brought for Rs. 770.75_and was sold for a profit of Rs. 50.25: Find selling price of Iron
box? / T AIg & a19T PI 770.75 TUA H WIS 74T AT 3R 50.25 U & a1y & 99 femm mar ur1 g &
T & faept Feg &1 uar ame?



* Rs.821/821 %W

e Rs.721/721 %W

* Rs.621/621 %W

e Rs.521/521 %W
Correct Answer :-Rs. 721/ 721 3Ud
16)

Question Stimulus :-

In a certain code language, Talk to me means Tu Nam Pit; Give me that means Su Ram
Nam; Give to him means Pi Tu Su. Which is the word for Give to me in that code language?
/ 5t @ ®is T ¥, Talk to me &1 Udad & Tu Nam Pit; Give me that &1 Udad § Su Ram
Nam; Give to him ®1Hddd § Pi Tu Su | 33! BIS HIT H Give to me & T w1 18 @2

® Nam Ram Su
® Su Tu Nam

® PiTu Ram

® PiTuSu

Correct Answer :-Su Tu Nam

17)
Question Stimulus :-

The ratio 6:5 expressed as a percentage equals/ Ufa=d & ¥u ¥ 3ifiarad far a1 U 6:5
foa & R g

® 125%
® 140%
* 120%
* 130%
Correct Answer :-120%

18)

Question Stimulus :-



Two cards are drawn from the pack of 52 cards. What is the probability of getting either a jack of spade or a king of

diamond? / -1 ATRT 52 AT 1 TTEY | fBTA T | §HH BT [ATH T S T ITGRME e o) T TUTa1 82
® 1/26
® 1/13
e 1/52
® 2/13
Correct Answer :-1/26
19)

Question Stimulus :-

In a certain code, TEACHER is written as VGCEJGT, how is PROBLEM written? / &t @<
#Ie &, TEACHER 9! VGCEJGT for@r WTar €, oY 39 ®Is § PROBLEM &1 34 for@r wRm?

e RTPDNGP
e RTQDNGO
* PTRDNGP
e RTQENGO
Correct Answer :-RTQDNGO

20)
Question Stimulus :-
Complete the series choosing the missing number: / AW IWAT FAHR SGAT BT TR BIOMT :

1,4,9,16,25,
® 35
* 36
® 48
® 49
Correct Answer :-36

21)



Question Stimulus :-

120 candidates appeared for an examination of which 75 passed. The failed percentage is? / Uh U'R’&'IT # 120

it F ym forn, fod @ 75 Sl guI Sriol wf=raar gifr?
® 40%
® 35%
® 45%
® 30%
Correct Answer :-35%

22)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 7 i M R vl § € Rl T ud & St wuH 911 W T 781 82

Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNIA

POLAND

(i) Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNLA

POLAND

(ii) Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNIA

POLAND

(iii) Mme Anna Kowalska



Ul. Bosmanska 1
81-116 GDYNIA

POLAND

(iv) Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNIA

POLAND

® jv
Correct Answer :-i

23)

Question Stimulus :-

1

A flask holds 1 # liters of tea. How many mugs can be filled with the tea from the flask, if

each mug can hold 250ml of tea? / T% WIR® H 9@ $T 1 4 ez 3 gwar 3| afe ud® w1 § 9
PT 250m| 3T IHdl g, df FRP I fbas 71 W o I d 82

° 2
Correct Answer :-5
24)

Question Stimulus :-

A train travels at an average speed of 50 km/h, stopping for 2 minutes after every 75 kms. How long will it take to

reach a destination of 600 kms from the starting point? / Udh 27{ 50 fope/dieT ot sitaa it A et %, 'Q?I:aﬂ? 75



Wﬁtﬂaﬂzjnwzﬁqza?ﬁﬁwh%l ARYH A F 600 fraHiey gR acd R a& Uga # 34 fova=n
q9g ?

® 12 hrs 7 minutes / 12 B¢ 7 i
® 12 hrs 21 minutes / 12 ¢ 21 e
® 12 hrs 14 minutes / 12 9¢ 14 e

® None of these /Eﬁﬁﬁﬂﬁiqﬁ

Correct Answer :-12 hrs 14 minutes / 12 9¢ 14 fiFe

25)

Question Stimulus :-

A can do a work in 15 days and B can do the work in 10 days. How many days will take to complete the work, if
they do simultaneously? / A U® HTH &I 15 &= # [T H THar g 3R B IH &1 &1 10 7 F wr
THdl 8 | af¢ d G TP & UG | BT $d §, 91 BT DI W A | fpa e e

° 6days/6ﬁq
e 5days/5 f&
° 9days/9ﬁ7'|'
° 8days/8ﬁ7'f

Correct Answer :-6 days / 6 f&7

26)
Question Stimulus :-

The value of 25P, is / 25P, BTHM &
® 600
® 625
® 575
® 550

Correct Answer :-600

27)

Question Stimulus :-



In the foIIowing qyesti_on, one term in the number series is wrong. Find out the wrong
term. / 9 uy ©, T= 491 ¥ TS UG T §| A UG FId BIoW|

24,27,31,33,36

°* 24

° 27

°* 31

* 33
Correct Answer :-31
28)

Question Stimulus :-

20% of a quantity is Rs. 400, the quantity equals / T& HTAT BT 20% 400 TUY BT §, HTAT $HP SRR B
° 200
e 800
* 2000
e 8000
Correct Answer :-2000

29)

Question Stimulus :-

In a certain code language, bey das kat means wise and clever; das som jona means clever young boy; zup jona oon
means young means fresh. Which is the word for boy in that code language? / fo<ft @ wie Wt ﬁ, bey das
kat pT Hddd % wise and clever; das som jona BT Hdd % clever young boy; zup jona oon dT Hddd % young

means fresh | bt wis 'J-I'I'qTﬁboy %mWW%"
® som
® das
® fkat
® jona

Correct Answer :-som



30)
Question Stimulus :-

A number consists of two digits whose sum is 7. If 9 is subtracted from the number, the digits are reversed. The

number is / T® AWAT qF 3B A fia®e g+t g ST A1 7 §| afe G- ¥ 9 9 et fear 91, a1 o
Sohfird g W §) We @

® 43

. 52

® 70

® 61

Correct Answer :-43

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on

graph? / -T2 fedT 79T IR ATE 91-90 9F HU-t & @ (Fufera g,u ster #) oxifar 31 91w W enurfa
sl & IR difvTul

6000
5000 2320
4000

3000 - 1 o0 Expenditure
2000 - il i} by a company

1000 + —

u T T T T T T T 1
891- 92- 93- 94- 95- 96- 97- 98-
92 93 94 95 96 97 98 99

The expenditure in 1997-98 was how many times that in 1994-95? / 1997-98 H W, 1994-95 H @l &7 fora=T 1
47?



Correct Answer :-1.5

2)
Question Stimulus :-

Which of the following number is divisible by 3? / ﬁl’H A3 P It = 3 9 favrsy %?
® 16215433
® 21279931
® 75913422
® 21546316

Correct Answer :-75913422

3)
Question Stimulus :-

The largest gland in human body is / AT7d IR # Ha& 91 Uy 8
e stomach / 3ETR™
e liver /9%d
* large intestine / 98
e salivary gland / @R Uf¥
Correct Answer :-liver /d&d
a)

Question Stimulus :-

The area of a semicircle of radius ‘r’ is . /ﬁWT ‘v H GTEHH Cal Z‘HW %

w2



m:f'IE
Correct Answer :-

5)
Question Stimulus :-

Name the process in which oxygen is released and carbon dioxide is consumed / 39 uferar &1 919 qdrgu
Ry sifRfie Idfia gl @ sk w1d+ STg3ifarss &1 SUHNT giaT 3

e Respiration / 494

e Transpiration / arsdcdSI

e Photosynthesis / YT A=A

e Translocation/ ¥did?
Correct Answer :-Photosynthesis / UTRT TRATUT
6)

Question Stimulus :-

The strength of an electro magnet depends on / Th ﬁgqa-w P &HAT TR ik st 2 -

® The current passing through the coil / W J '{Fﬂﬁ G| ﬁg"ﬂﬂ YRT
® The number of coils around the core / ®is # IR SR Iufyd ?Ugﬁl'fﬁ CARECs ||

e The material with which the core and the coil is made / T8 g o/ #t HIs iR Fusdl
fAffa &

® BothA & B / A U4 B giHl
Correct Answer :- BothA & B / A Ud B &I
7)

Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on

graph? / = 3T 4T IR WTW 91-99 9% HUN & Wd (Fufera g.vw ster #) <xifar 81 31w W smenfya
"l & IR el



5000 2320

4000 3720 sas =

<000 - i o0 Expenditure
2000 - il by a company

1000 + —

u T T T T T T T 1
91- 92- 93- 94- 95- 96- 97- 98-
92 93 94 95 96 97 98 99

The ratio of the number of years, in which expenditure are above the average expenditure, to those in which the

expenditure are below the average expenditure is: / 3 aut 3l I forad Eﬁ, Gﬁﬂﬂ E?ﬁ: 3 siftre % aur q
i foraw T sivra @l A $H § &1 Ui 3

® 2:6

® 34

® 35

® 44
Correct Answer :-3:5
8)
Question Stimulus :-

If lines AB, AC, AD and AE are parallel to a line |, then the points A, B, C, D and E / 'CI'% WTE AB, AC, AD Gﬁ?'

AEXWET | & UG 8 @1 A, B,C, D3R Efa'g

® forms a quadrilateral / TGYS T §

® are collinear / YW §

* forms a pentagon / UAYST g1 %

® forms a triangle / ﬁf‘ﬂ\_rl CCIG] %
Correct Answer :-are collinear / G %
9)
Question Stimulus :-

The plants need nitrogen to produce protein. They get the nitrogen in the form of/EﬁTﬁT-r IUT A & ﬁl’E
qrel P ATSSe B ATIRTHAl gidl 31 9 ATSeIo ®I 39 U H U Hd §



e Nitrogen gas from the atmosphere / IGHUSH A ATgEIoH 1

® Nitrate salts from soil in the soluble form / Wﬁﬁﬁ'&ﬂﬁ?@?ﬁﬁﬂ
e Ammonia / 3=
e Humus / ga99

Correct Answer :-Nitrate salts from soil in the soluble form / Wﬁﬁﬁ'ﬂﬂ | H‘IE’QE’ oqur

10)
Question Stimulus :-

History of agriculture developed at the beginning of / q?fer F1 sfde™ sﬂﬁ? =31 ¥ fawRa gl

® Neolithic Period / STdUTVTOT QT

® Paleolithic Period / JRTATYTOT T
® lIron Age / Fﬁ? i
® Bronze Age / BIHI il
Correct Answer :-Neolithic Period / STaUTHTOT T

11)

Question Stimulus :-

What is a line intersecting a circle in two points called? / qd k| ﬁf{{\?‘ﬁ ¥ fguriora o= arelt v
HgaTd! o?

® Arc / WU

* Sector / UGS

* Secant / BGH

* Radius / F=am
Correct Answer :-Secant / ¥¢®
12)

Question Stimulus :-

The forest fires in Uttarakhand is an example of / IWES # 99 3 DT Jqlex Ul %’

® Slow combustion / Siea) qo-l



® Rapid combustion /aT_rl @t
® Spontaneous combustion / ¥dd: ¢g+
® Explosion /ﬁ?q'ﬂ?
Correct Answer :-Rapid combustion /a\_.rl o

13)

Question Stimulus :-

The rearing of silkworms for obtaining silk is known as / I YT A & ﬁm‘{m-ﬁt & Ut B ﬁa % -
® Apiculture / qw CIGE]
® Sericulture / IH IdTgd
® Horticultrue / CIRICIG]

e Silviculture / g9a¢9

Correct Answer :-Sericulture / I IS

14)
Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on

graph? / = 3@ 4T IR WTW 91-99 9% HU & Wd (Fuferaa g.vw ster #) <xifar 81 1% W smenfya
"l & IR el

5000 2320

4000 2720 saes ==

S000 - 1 o0 Expenditure
2000 A Himil by a company

1000 + ]
u T 1 1 1 1 T 1 1
91- 92- 93- 94- 95- B8B- 97- 98-
82 93 94 95 98 97 988 99

For which year, the percent increase of expenditure over the previous year is the highest? /ﬁ'@ﬁ a'l?f @t LRI s |

fou af & @l 7 gfs wad wmar g8 @

® 92-93



® 93.94
® 94.95
® 96-97

Correct Answer :-92-93

15)

Question Stimulus :-

To draw water from a well, the rope is being / ?}'Q ¥ gl FAeTea & Fcl'&, =N BY
® Pushed / WT\‘:I‘IHT%
e Pulled / WiaT ST 3
® Pushed or pulled / 4Bl T QT ST ?
* Pushed & pulled / YT 3R EiaT oI1aT &
Correct Answer :-Pulled / S¥dT &Il §
16)

Question Stimulus :-

pEm

gxn

If p/q = then statement is true. /

Correct Answer :-m=n

17)

Question Stimulus :-



The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on

graph? / -1 faT 4T IR TP 91-99 99 Hu-t & T (Fifera g.ow sfer #) gxifar 81 TP W enurfea
sl & IR iUl

5000 4320
4000 =T 33603750 0 3120

5000 - 1 o0 Expenditure
2000 A il by a company

1000 - —

u T T T T T T T 1
91- 92- 93- 94- 95- B86- 97- 98-
82 93 94 95 96 987 988 99

The expenditure in 96-97 were approximately what percent of the expenditure over the period under review? / 96-97

Dt afy ® gu =l BT AU fpan ufa=a Sirg & = ur?
® 95%
* 110%
* 115%
* 125%
Correct Answer :-125%
18)
Question Stimulus :-

The angle of incidence for a reflection from a mirror is found to be 459, What is the angle between the reflected

ray and the incident ray? / U gUUI § WRTad & 1€ 3mua= Hiur 45 f&3i urar mar 31 wrafda foezor sk
3mufed fevor & & &1 Sivr Far gm?

e oo
® ()

o 45

e 180"

Correct Answer :-90°

19)



Question Stimulus :-

Choose the statement that is wrong about *Metamorphosis' / 3 DY BT II aﬂﬁm\—rﬁ BIYTARIr & IR |
Ted @

® [t is the transformation of an egg to adult / g S AV IuF HT uRad- %

® Egg directly hatches out in to an organism, with the same adult features / 3{ST dter T ofta ¥, 38l
3if & 1Y St TP 9P | §Id §, ITER T 7

® [t passes through different stages / d@ fafira =on @ oI g

® The features of each stage of development is very different / g% dRUI & fawrg 91 ﬁ"ﬂm i %

Correct Answer :-Egg directly hatches out in to an organism, with the same adult features / 3fsT Idtem Udh

Sitg 9§, 38 faxiuarsit & |1y o U 993 & gId ©, 9TgY 31dT1 &

20)
Question Stimulus :-

Manoj received Rs. 6000 as his share out of the total profit of Rs. 9000 which he and
Ramesh earned at the end of one year. If Manoj invested Rs. 20000 for 6 months, whereas
Ramesh invested his amount for the whole year, what was the amount invested by
Ramesh? / 9000 ¥UT & $d ATH # A I A 30 3 & ¥ # 6000 FUY U fvd, ford 39 wd
I A TH ¥ & 3id A sifela fran afe 7w A 6 wEHT & forw 20000 FuT A fd wafe w@=r o+t
AR B ¥ ad & g Fawr [, = gt Fafa afd & de

® Rs. 4000
® Rs. 10000
® Rs. 5000
® Rs. 6000
Correct Answer :-Rs. 5000
21)
Question Stimulus :-
What is the importance of Rhizobium? [ JTSSNSUH BT HT HEd &2

® [t turns compounds of nitrogen in to gaseous nitrogen / g q'l?gﬂ@ﬂ ¥ Gl o i qﬁﬂ@ﬂ |
9T 3

® [t fixes atmospheric nitrogen / 4% aTﬂ'q—é'.?ﬂ'q qﬁaﬁq o fRR Fear @
® It promotes ammonia formation / dg 3T fAmfor &Y deldl %



® It enhances decay of organic materials / g aﬂ W?ﬁ a7 &g aﬁ deldl %
Correct Answer :-It fixes atmospheric nitrogen / Jg HTQTIW ﬂ'@ﬁ? o fRR Fwar @
22)
Question Stimulus :-
1'5'%3:-"5=D'S, then the value of x is / log 5, x=0.8 dq x PTHH B
® 25.6
* 16
* 10
* 1238
Correct Answer :-16
23)
Question Stimulus :-
A monthly installment of Rs.180 is required to be paid for repayment of an interest fee loan in 40 months. If it is
decided to pay it in 30 months, how much will be the monthly installment in rupees? / 180 I F HIfYS fpa
40 WEH W =TS Y[eP BT B reraift & g ywrar= fear s smawas 81 afe as fAf¥a 3 7 30
AR § SHST YA BT 3, a1 AT e fpaq +0d &5t gt
®* 60
® 240
* 330
* 300
Correct Answer :-240
24)
Question Stimulus :-

The sound from the bee is produced when its wings vibrates at 360 vibrations per second. The Time Period of
the vibration would be / AYARS ¥ afy HT I a9 BT & &9 I8 U4 UH gRT Ufd AP & 360 HUT
Hdl g1 HUT Pt TUT Ay gl :

* 1/6

e 1/36



e 1/360
* 1/216

Correct Answer :-1/360

25)
Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on
graph? / 12 fadT 74T IR ATE 91-90 9% Hu-t F @ (Fuferas g,ux ster #) gxifar 31 91w W enuria
w4l & IR i)

5000 4320
4000 3720 3566 B
3000 o Expenditure

2000 4 il i} by a company

1000 - —
D T T T T T T T 1
91- 92- 93- 94- 95- B96- 97- 98-
82 93 94 B85 96 87T 88 99

What was the percentage increase in the expenditure in 1997-98 over 1993-94? / 1993-94 CRCEE g ﬂTa'&f 1997-98 H

@l & Reea wferer @1 o g8 a2
* 100
* 150
* 200
* 620
Correct Answer :-100
26)

Question Stimulus :-

Ifo0 = b 909, the value of cos e lies in the interval Jafieo = s 90°,

cos 5 BT HH ¥ 3T | gRI|

° 10,2]



* [-1,0]

° [1,2]

° [0,1]
Correct Answer :-|0, 1]
27)

Question Stimulus :-

Which of the following materials will you prefer for replacing the broken handle of your bread toaster? /a?; E-']W &

¢¢ BU oUSd @I dguq & g oy e & & o197 @ uard ) ueig S
* Brass/ Ula@
® Copper / didl
* Aluminium / TgHIfaH
® Wood / AHSI
Correct Answer :-Wood / dHS!

28)
Question Stimulus :-

Which of the following options gives the area of the parallelogram given in the figure? / %E Mg CER:] fa 03

DI 91 fIwer quiaR gy &1 &owd axitdr 82

® 1 % BE *AD
® BE * AD
® 2%(AD+DC)
e AD *DC
Correct Answer :-BE * AD

29)



Question Stimulus :-

The temperature of hot water is measured using / T uri &1 auaE U JUDBIUT & TN { HIUT ST @
® (linical thermometer / ﬁa’ﬂeﬁ? ygiHieR
® Digital thermometer / feforea ynfdier
® Maximum-minimum thermometer / arfﬁm-qa?m yafifes
® Laboratory thermometer / TATRITen YHiHeR

Correct Answer :-Laboratory thermometer / TN YH iR

30)
Question Stimulus :-

The organism which contantly changes its shape and position is / 98 &9 ¥ 59 § S AR
3 PR 3R R F ggaar 32

e Euglena / gl
e Amoeba / 3HaT

e Paramoecium / RTHR”H
e Cyanobacteria / grg-aadifear

Correct Answer :-Amoeba / 3rHtar



